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TNPSC DEO MAIN EXAM – 2023 
Mandatory test XVI 

 
1. The aim of RUSA 

a. Higher Enrollment  b. Lower Dropout  c. Infrastructure 
d. Higher Education  e. Answer not known 
RUSA tpd; Nehf;fk; 
a. mjpf Nrh;f;if tpfpjk;  b. ,ilepw;wiy Fiwj;jy;   
c. cl;fl;likg;G   d. cah;fy;tp    

e. tpil njhpatpy;iy 
 

2. Which of the following pair is not correctly matched? 
a. Wood’s dispatch – 1854  b. University commission – 1917 c. Sargent report – 1944 
d. Hunter Commission – 1882 e. Answer not known 
gpd;tUtdtw;Ws; jtwhf ,izf;fg;gl;Ls;s ,izia Njh;e;njL? 
a. cl;]; mwpf;if – 1854  b. gy;fiyf;foff; FO – 1917  
c. ru;n[z;l; mwpf;if – 1944 d. `z;lh;FO - 1882 
e. tpil njhpatpy;iy 
   

3. The other name of National Education Commission 
a. Wood’s declaration b. Kothari Commission  c. Hunter Commission  
d. Sargent report  e. Answer not known 
Njrpa fy;tpf;FOtpd; NtW ngah; 
a. cl;]; mwpf;if  b. Nfhj;jhhp FO   c. `z;lh; FO 
d. ru;n[z;l; mwpf;if e. tpil njhpatpy;iy 
 

4. National curriculum frame work were published in  
a. 1975, 1988, 2000, 2005 b. 1975, 1985, 2000, 2005  c. 1978, 1988, 2000, 2005  
d.  1978, 1988, 1998, 2005 e. Answer not known 
Njrpa fiyj;jpl;lk; ntspaplg;gl;l Mz;Lfs; 
a. 1975, 1988, 2000, 2005 b. 1975, 1985, 2000, 2005  c. 1978, 1988, 2000, 2005  
d.  1978, 1988, 1998, 2005 e. tpil njhpatpy;iy 
 

5. The international decade woman was observed ________ 
a. 1955 – 1965  b. 1995 – 2005  c. 1965 – 1975 
d. 1975 – 1985  e. Answer not known 
ngz;fSf;fhd rh;tNjr jrhg;j Mz;lhf Vw;Wf;nfhs;sg;gl;lJ. 
a. 1955 – 1965  b. 1995 – 2005  c. 1965 – 1975 
d. 1975 – 1985  e. tpil njhpatpy;iy 
 

6. Juvenile Justice Act was enacted in  
a. 1995 b. 2000 c. 1985  d. 2005 e. Answer not known 
rpwhh; ePjpr;rl;lk; nfhz;L tug;gl;l Mz;L 
a. 1995 b. 2000 c. 1985  d. 2005 e. tpil njhpatpy;iy 
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7. Convention on the right of child came into force in 
a. 1980 b. 1985 c. 1990  d. 1995 e. Answer not known 
Foe;ijfspd; chpikfs; gw;wpa khehL nray;Kiwf;F te;j Mz;L 
a. 1980 b. 1985 c. 1990  d. 1995 e. tpil njhpatpy;iy 
 

8. Which Article deals with Right to Equality in UNHRC? 
a. Article 14 b. Article 7 c. Article 19  d. Article 21 e. Answer not known 
ve;j ruj;J UNHRC-d; fPo; rkj;Jt chpikahf cs;sJ? 
a. ruj;J 14 b. ruj;J 7 c. ruj;J 19  d. ruj;J 21 e. tpil njhpatpy;iy 
 

9. NAS Exam is conducted by 
a. OECD b. MHRD c. UNICEF d. SCERT  e. Answer not known 
NAS Njh;it elj;JtJ 
a. OECD b. MHRD c. UNICEF d. SCERT  e. tpil njhpatpy;iy 
 

10. Formula for Intelligent Quotient 

a. 100
CA

MA
  b. 100

EQ

SQ
  c. 100

MA

CA
  d. 100

SQ

EQ
    e. Answer not known 

Ez;zwpT <tpw;fhd #j;jpuk; 

a. 100
CA

MA
  b. 100

EQ

SQ
  c. 100

MA

CA
  d. 100

SQ

EQ
    e. tpil njhpatpy;iy 

 
11. The word polytechnic was introduced by 

a. Kothari Commission   b. Zakir Husai Commission 
c. Abbot and Wood Commission  d. Mudaliar Commission 
e. Answer not known 
ghypnlf;dpf; vDk; gjj;ij cUthf;fpaJ  
a. Nfhj;jhhp FO  b. [hfph; cird; FO  c. mG+l; kw;Wk; cl;FO  
d. Kjypahh; FO  e. tpil njhpatpy;iy 
 

12. Indira Gandhi University was started in 
a. 1975 b. 1985 c. 1955  d. 1965 e. Answer not known 
,e;jpufhe;jp gy;fiyf; fofk; cUthf;fg;gl;l Mz;L 
a. 1975 b. 1985 c. 1955  d. 1965 e. tpil njhpatpy;iy 
 

13. Match the following 
A. Tailor   1. 1949 
B. Bhukamp   2. 1961 
C. Hilda Taba  3. 1962 
D. Wheeler   4. 1967 
nghUj;Jf 
A. ilyh;   1. 1949 
B. gpA+fhk;g;   2. 1961 
C. `py;lh jhgh  3. 1962 
D. tPyh;   4. 1967 
 A B C D 
a. 1 2 3 4 
b.  2 3 4 1 
c. 4 3 2 1 
d. 3 2 1 4 
e. tpil njhpatpy;iy 
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14. How many levels are there in Hilda Taba model 
a. 3  b. 4  c. 5  d. 7  e. Answer not known 
`py;lh jhgh khjphpapy; cs;s gbepiyfs; 
a. 3  b. 4  c. 5  d. 7  e. tpil njhpatpy;iy 
 

15. The Head of the Science city ______ 
a. Chief Minister   b. Governor  c. Minister of School Education  
d. Minister of Higher Education e. Answer not known 
mwptpay; efuj;jpd; jiyth; 
a. Kjyikr;rh;   b. MSeh;  c. gs;spf;fy;tp mikr;rh;   
d. cah;fy;tp mikr;rh;  e. tpil njhpatpy;iy 
 

16. SUPW was created by 
a. Kothari Commission   b. Abbot-Wood Commission 
c. Ishwarbhai Patel Commission  d. Mudaliar Commission 
e. Answer not known 
SUPW I cUthf;fpa FO 
a. Nfhj;jhhp FO  b. mG+l;-Tl; FO   c. <];th;gha; gNly; FO  
d. Kjypahh; FO  e. tpil njhpatpy;iy 
 

17. Match the following 
A. Mudaliar Commission    1. 1952 
B. Dr. Sampurnanand Commission  2. 1962 
C. Ishwarbhai Patel Commission   3. 1977 
D. Dr. Malcolm Adiseshiah Commission  4. 1978 
nghUj;Jf. 
A. Kjypahh; FO     1. 1952 
B. Dr. rk;G+u;zde;j; FO    2. 1962 
C. <];th;gha; gNly;FO    3. 1977 
D. Dr. khy;fk; MjpNr~;a;ah FO   4. 1978 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 4 3 2 1 
e. tpil njhpatpy;iy 
 

18. Sargent Report was related to 
a. Primary education b. Secondary education  c. Higher secondar education 
d. Vocational education e. Answer not known 
rh;n[z;l; mwpf;ifAld; njhlh;GilaJ 
a. njhlf;ff;fy;tp   b. ,ilepiyf;fy;tp   c. Nky;epiyf;fy;tp   
d. njhopw;fy;tp  e. tpil njhpatpy;iy 
  

19. Shagun is a web portal of ____ 
a. SSA  b. RMSA c. NCERT d. CBSE e. Answer not known 
~hFd; vd;gJ ____ d; tiyjsk;. 
a. SSA  b. RMSA c. NCERT d. CBSE e. tpil njhpatpy;iy 
 

20. Which of the following was created as a school evaluation dashboard? 
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a. Shagun   b. Shaladarpan   c. Diksha 
d. Shaala Siddhi  e. Answer not known 
gs;spfspd; kjpg;gPl;bid mwpa cUthf;fg;gl;l tisjs mikg;G vJ? 
a. ~hFd;   b. ~hyhjh;gd;   c. jpf;~h 
d. ~hyh rpj;jp  e. tpil njhpatpy;iy 
 

21. Which among the following is the report of Kothari Commission? 
I. Report of National Education Commission 
II. Education and National Development 
III. Report of the Nation 
a. I only   b. I and II only  c. II and III only 
d. I, II and III   e. Answer not known 
Nfhj;jhhp FOtpd; mwpf;if vJ? 
I. Njrpa fy;tp FOtpd; mwpf;if 
II. fy;tp kw;Wk; Njrpa Kd;Ndw;wk; 
III. Njrj;jpd; mwpf;if 
a. I kl;Lk;   b. I kw;Wk; II kl;Lk;  c. II kw;Wk; III kl;Lk; 
d. I, II kw;Wk; III  e. tpil njhpatpy;iy 
 

22. In which year Kothari Commission was constituted? 
a. 1964 b. 1965 c. 1966  d. 1967 e. Answer not known 
Nfhj;jhp fy;tpf;FO mikf;fg;gl;l Mz;L 
a. 1964 b. 1965 c. 1966  d. 1967 e. tpil njhpatpy;iy 
 

23. Through which act yearly Rs. 1 lakh was allotted for the development of education among 
Indians? 
a. Regulating Act 1773  b. Pits Act 1784   c. Charter Act 1813  
d. Charter Act 1833   e. Answer not known 
,e;jpah;fspd; fy;tpf;F &. 1yl;rk; xJf;fPL nra;j rl;lk; 
a. xOq;FgLj;J rl;lk; 1773 b. gpl; rl;lk; 1784  c. gl;la rl;lk; 1813  
d. gl;la rl;lk; 1833  e. tpil njhpatpy;iy 
 

24. When did the British make English as the medium of instruction in India? 
a. 1833 b. 1835 c. 1854  d. 1857 e. Answer not known 
,e;jpahtpy; Mq;fpyk; gapw;W nkhopahf vg;NghJ Mq;fpNyah;fshy; nfhz;Ltug;gl;lJ? 
a. 1833 b. 1835 c. 1854  d. 1857 e. tpil njhpatpy;iy 
 

25. Which of the following is called Magna Carta of English education in India? 
a. Woods Dispatch  b. Macaulay Minutes c. Vernacular Act 
d. Hunter Commission e. Answer not known 
Mq;fpNyah;fshy; ,e;jpa fy;tpKiwapd; kfhrhrdk; vd vJ miof;fg;gLfpwJ? 
a. cl;]; mwpf;if  b. nkf;fhNy nfhs;if c. nra;jpj;jhs; rl;lk;   
d. `d;lh;FO mwpf;if e. tpil njhpatpy;iy 
 

26. Who among the following first took the initiative for appointing a university education 
commission? 
a. Lord Wellesley  b. Lord Ripon   c. Lord Curzon 
d. Lord Bentik  e. Answer not known 
gpd;tUgth;fSs; gy;fiyf;fofq;fSf;fhd FOit Kjypy; epakpj;jth; ahh;? 
a. nty;ny];yp gpuG  b. hpg;gd; gpuG   c. fh;rd; gpuG 
d. ngd;bq; gpuG  e. tpil njhpatpy;iy 
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27. Which committee was appointed by the British government to survey on the growth of 
education in India? 
a. Indian Education Commission  b. Hunter Commission c. Butler Commission 
d. Hartog Commission   e. Answer not known 
,e;jpaf; fy;tpapd; tsh;r;rpf;fhf Mq;fpNyah;fshy; epakpf;fg;gl;l FO vJ? 
a. ,e;jpa fy;tpf;FO  b. `z;lh; FO   c. gl;yh; FO   
d. `hh;lhf; FO   e. tpil njhpatpy;iy 

 
28. Which committee was appointed to study wastage and stagnation in education? 

a. Hartog Commission b. Hunter Commission  c. Butler Commission 
d. Kothari Commission e. Answer not known 
fy;tpapy; tPz; tpuak; kw;Wk; Njf;f epiy Mfpatw;iw Muha mikf;fg;gl;l FO _____ 
a. `hh;lhf; FO  b. `z;lh; FO   c. gl;yh; FO 
d. Nfhj;jhhp FO  e. tpil njhpatpy;iy 
 

29. National council of woman education was established in  
a. 1949 b. 1952 c. 1958  d. 1944 e. Answer not known 
ngz; fy;tpf;fhd Njrpaf;FO mikf;fg;gl;lJ 
a. 1949 b. 1952 c. 1958  d. 1944 e. tpil njhpatpy;iy 
 

30. In the post-Independence era the issue of vocationalisation of education was delt by a 
committee chaired by 
a. Malcolm Adiseshiah  b. Kothari   c. Hartog 
d. Ishwarbhai Patel   e. Answer not known 
,e;jpahtpy; Rje;jpuj;jpw;Fg; gpd; njhopw;fy;tpia fy;tpapy; GFj;j epakpf;fg;gl;l FOtpd; 
jiyth; 
a. khy;fk; MjpNr~ah  b. Nfhj;jhhp   c. `hh;lh;f 
d. <];th;gha; gNly;   e. tpil njhpatpy;iy 
 

31. With regard to acid rain, the value of pH should be below ______ 
a. 5.5  b. 5.6  c. 6.5  d. 6.0  e. Answer not known 
mkpy kio cUthf pH kjpg;G vt;tsT fPo; ,Uf;Fk;? 
a. 5.5  b. 5.6  c. 6.5  d. 6.0  e. tpil njhpatpy;iy 
 

32. Acid rain is caused by 
a. SO2 + NO2   b. SO2 + N2O   c. CO2 + SO2 

d. NO2 + Co   e. Answer not known 
mkpy kiof;F fhuzk; 
a. SO2 + NO2   b. SO2 + N2O   c. CO2 + SO2 

d. NO2 + Co   e. tpil njhpatpy;iy 
 

33. Green house gases contains  
a. CO2, CH4, N2O, O3 b. Co, CO2, NO2, Water, CH4 c. Co, CO2, CH2, NO2, SO2  
d. CO2, N2O, Water, SO2, CH4 e. Answer not known 

gRik ,y;y thAf;fspy; fhzg;gLgit 
a. CO2, CH4, N2O, O3 b. Co, CO2, NO2, Water, CH4 c. Co, CO2, CH2, NO2, SO2  
d. CO2, N2O, Water, SO2, CH4 e. tpil njhpatpy;iy 

 
34. Major component in green house gases 

a. CO2  b. Co  c. CH4  d. Water vapour   e. Answer not known 
gRik ,y;y thAf;fspy; Kjd;ikahf fhzg;gLtJ. 
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a. CO2   b. Co c. CH4  d. ePuhtp  e. tpil njhpatpy;iy 
 

35. BOD means 
a. Bio Oxygen Deletion b. Bio Oxygen Demand  c. Biological Oxygen Demand 
d. Biology Oxygen Demand e. Answer not known 
BOD tphpthf;fk; 
a. Bio Oxygen Deletion b. Bio Oxygen Demand  c. Biological Oxygen Demand 
d. Biology Oxygen Demand e. tpil njhpatpy;iy 
 

36. Which of the following pair is correctly matched? 
a. CD – Itai Itai  b. Pb – Karunkal disease  c. F – Mentally disorder  
d. AS – bone and join pain e. Answer not known 
gpd;tUk; ,izfspy; rhpahf nghUe;jpAs;sJ vJ? 
a. CD - ,l;lha; ,l;ly; b. Pb - fUq;fy; Neha;  c. F – kdtsh;r;rp FiwT  
d. AS - %l;L> vYk;G typ e. tpil njhpatpy;iy 
 

37. Which of the following is not primary air pollutants? 
a. Fog    b. Sulphur dioxide     c. Nitrogen dioxide 
d. Carbon Monoxide e. Answer not known 
gpd;tUtdtw;Ws; Kjy;epiy fhw;W khRgLj;jp my;yhjJ vJ? 
a. gdpg;Gif   b. ry;gh; il Mf;irL  c. iel;u[d; il Mf;irL  
d. fhh;gd; Nkhdhf;irL e. tpil njhpatpy;iy 
 

38. Minamata disease is caused by 
a. Pb  b. Hg  c. Cd  d. Co  e. Answer not known 
kpdNkl;lh vd;w Neha; cUthf fhuzkhd fd cNyhfk; 
a. Pb  b. Hg  c. Cd  d. Co  e. tpil njhpatpy;iy 
 

39. Match the following  
A. Bhopal gas tragedy   1. 1973 
B. Chernobyl tragedy   2. 1945 
C. Nuclear tragedy – Hiroshima  3. 1986 
D. Chipko movement   4. 1984 
nghUj;Jf. 
A. Nghghy; NguopT    1. 1973 
B. nrh;Ndhgpy; NguopT   2. 1945 
C. mZg;NguopT    3. 1986 
D. rpg;Nfh ,af;fk;    4. 1984 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 1 2 4 3 
d. 4 3 1 2 
e. tpil njhpatpy;iy 
 

40. Ozone depleting substance regulation commenced from _____  
a. 1995 b. 1998 c. 2000  d. 2008 e. Answer not known 
XNrhd; rpijtilAk; nghUl;fSf;fhd tpjp Jtq;fpa Mz;L 
a. 1995 b. 1998 c. 2000  d. 2008 e. tpil njhpatpy;iy 
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41. Cone of learning experience was created by 
a. Edgar Dale   b. Gagne   c. Jerome Bruner 
d. Thorndyke  e. Answer not known 
fw;wy; mDgtf;$k;ig cUthf;fpath;  
a. vl;fh; Nly;   b. fhf;Nd   c. n[Nuhk; G&zh; 
d. jhh;z;ilf;  e. tpil njhpatpy;iy 
 

42. Which of the following pair is not correctly matched? 
a. Madras University   - 1857 
b. Annamalai University   – 1926 
c. Bharathiyar University   – 1982 
d. Bharathidhasan University  – 1982 
e. Answer not known 
gpd;tUtdtw;Ws; vJ jtwhf nghUe;jpAs;sJ? 
a. nrd;id gy;fiyf;fofk;  - 1857 

b. mz;zhkiy gy;fiyf;fofk;  - 1926 
c. ghujpahh; gy;fiyf;fofk;  - 1982 
d. ghujpjhrd; gy;fiyf;fofk;  - 1982 
e. tpil njhpatpy;iy 
 

43. I.Q for genius________ 
a. 110 – 119   b. 120 – 139   c.  140 – 169 
d. 170 – 189   e. Answer not known 
Nkijah;fspd; Ez;zwpT <T 
a. 110 – 119   b. 120 – 139   c.  140 – 169 
d. 170 – 189   e. tpil njhpatpy;iy 
 

44. MHRD was started in 
a. 26th September 1985 b. 26th October 1985  c. 26th July 1975 
d. 26th September 1975 e. Answer not known 
kdpjts Nkk;ghl;L mikr;rfk; cUthf;fg;gl;l ehs; 
a. nrg;lk;gh; 26> 1985 b. mf;Nlhgh; 26> 1985 c. [_iy 26> 1975 
d. nrg;lk;gh; 26> 1975 e. tpil njhpatpy;iy 
 

45. The last stage in Gagne’s level of learning 
a. verbal association   b. problem solving  c. rule learning 
d. discrimination learning  e. Answer not known 
fhf;Ndapd; fw;wy; gb epiyfspy; cah;epiyg;gb 
a. nrhy; ,izj;Jf; fw;wy; b. gpur;ridfSf;F jPh;T fw;wy; 
c. tpjpiaf; fw;wy;   d. NtWgLj;jpf; fw;wy; 
e. tpil njhpatpy;iy 
 

46. Calculate median of the following numbers 
9, 3, 44, 17, 15 
a. 9  b. 14  c. 15  d. 17  e. Answer not known 
gpd;tUtdtw;wpd; ikaepiyia fz;lwpf. 
9, 3, 44, 17, 15 
a. 9  b. 14  c. 15  d. 17  e. tpil njhpatpy;iy 
 

47. Which of the following statements is/are correct? 
I. Alpha test – for non-educated peoples 
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II. Beta test – for educated peoples 
a. I only    b. II only    c. I and II 
d. None of the above  e. Answer not known 
gpd;tUtdtw;Ws; rhpahd thf;fpak; vJ? 
I. My;gh Nrhjid – gbg;gwptw;wth;fSf;F 
II. gPl;lh Nrhjid – gbg;gwpT cs;sth;fSf;F 
a. I kl;Lk;    b. II kl;Lk;    c. I kw;Wk; II 
d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 
 

48. The first Psychological Laboratory was located in  
a. India   b. England    c. America 
d. Germany   e. Answer not known 
Kjy; cstpay; Ma;tfk; mikf;fg;gl;L cs;s ,lk; 
a. ,e;jpah   b. ,q;fpyhe;J   c. mnkhpf;fh 
d. n[h;kdp   e. tpil njhpatpy;iy 
 

49. The number of verbal and non-verbal test in Wechsler’s intelligence scale. 
a. 6, 5  b. 5, 6  c. 4, 5  d. 5, 4  e. Answer not known 
nt];yhpd; nrhw; kw;Wk; nraw; Nrhjidfs; KiwNa 
a. 6, 5  b. 5, 6  c. 4, 5  d. 5, 4  e. tpil njhpatpy;iy 

 
50. Match the following 

A. Individual Psychology  1. Carl Jung 
B. Analytical Psychology  2. Adler 
C. Humanistic Psychology  3. Carl Rogers 
D. Anthropologist   4. Becker 
nghUj;Jf. 
A. jdpegh; cstpay;   1. fhy;A+t; 
B. gFg;G cstpay;   2. Ml;yh; 
C. kdpjNea cstpay;  3. fhh;y; Nuhfh;]; 
D. cs ,aw;gpay;   4. ngf;fh; 
 A B C D 
a. 2 1 3 4 
b. 1 2 3 4 
c. 4 3 2 1 
d. 3 4 1 2 
e. tpil njhpatpy;iy 

 
51. The full form of HTTP 

a. Hyper Text Transfer Protocol  b. Hyper Text Transition Protocol 
c. Hyper Text Transfer Program  d. Hyper Text Transition Program 
e. Answer not known 
HTTP-d; tphpthf;fk; 
a. Hyper Text Transfer Protocol  b. Hyper Text Transition Protocol 
c. Hyper Text Transfer Program  d. Hyper Text Transition Program 
e. tpil njhpatpy;iy 

 
52. WWW stands for  

a. World Wide Wizard b. World Wide Web   c. Wide World Web   
d. Wed World Wide  e. Answer not known 
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WWW d; tphpthf;fk; 
a. World Wide Wizard b. World Wide Web   c. Wide World Web   
d. Wed World Wide  e. tpil njhpatpy;iy 

 
53. A website is a collection of 

a. Graphics   b. Programs    c. Algorithm 
d. Web pages   e. Answer not known 
Website vd;gJ vjd; njhFg;G 
a. Graphics   b. Programs    c. Algorithm 
d. Web pages   e. tpil njhpatpy;iy 

 
54. Identify the input device 

a. Printer   b. Mouse   c. Speaker 
d. Monitor   e. Answer not known 
cs;sPL rhjdj;ij Nje;njL 
a. mr;Rg;nghwp  b. Rl;b   c. xypg;ghd; 
d. jpiuafk;   e. tpil njhpatpy;iy 

 
55. Which of the following is an output device? 

a. Monitor   b. Speaker   c. Printer 
d. All the above  e. Answer not known 
gpd;tUtdtw;Ws; ntspaPL vJ? 
a. jpiuafk;   b. xypg;ghd;   c. mr;Rg;nghwp 
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
56. As per the census of 2011, the literacy rate of men and woman 

a. 65.46%, 82.14%  b. 82.14%, 65.46%  c. 74.04%, 65.46% 
d. 82.14%, 74.04%  e. Answer not known 
2011 kf;fs; njhif fzf;nfLg;gpd;gb Mz; kw;Wk; ngz; vOj;jwpT tPjk;. 
a. 65.46%, 82.14%  b. 82.14%, 65.46%  c. 74.04%, 65.46% 
d. 82.14%, 74.04%  e. tpil njhpatpy;iy 

 
57. Beti Bachao Beti Padhao was started in  

a. 22nd January, 2015 b. 22nd July, 2015  c. 21st July, 2014 
d. 21st January, 2015  e. Answer not known 
Ngl;b gr;rhNth Ngl;b gjhNth Jtq;fg;gl;l ehs; 
a. [dthp 22> 2015  b. [_iy 22> 2015  c. [_iy 21> 2014 
d. [dthp 21> 2015  e. tpil njhpatpy;iy 

 
58. Match the following 

A. Swadhar Greh  1. 2001 - 2002 
B. Step   2. 2017 
C. SWAYAM   3. 1986 – 87 
D. One stop One centre 4. 2002 
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 4 1 2  
d. 4 3 2 1 
e. Answer not known 
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nghUj;Jf. 
A. ];tjhh; fpNu   1. 2001 – 2002 

B. ];nlg;    2. 2017 
C. ];tak;    3. 1986 – 87 
D. xd; ];lhg; xd; nrd;lh;  4. 2002 
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 4 1 2  
d. 4 3 2 1 
e. tpil njhpatpy;iy 

 
59. Plan of action was started in  

a. 1968 b. 1986 c. 1992  d. 2020 e. Answer not known 
nrayhf;fj; jpl;lk; Jtq;fg;gl;lJ. 
a. 1968 b. 1986 c. 1992  d. 2020 e. tpil njhpatpy;iy 

 
60. The World Conference (1993) on human rights took place at 

a. Vienna   b. Geneva    c. New York 
d. Paris   e. Answer not known 
cyfshtpa kdpj chpikfs; (1993) kheL eilngw;w ,lk; 
a. tpad;dh   b. n[dPth    c. epA+ahh;f; 
d. ghhp];   e. tpil njhpatpy;iy 

 
61. Convention on the elimination of all forms of discrimination against woman was conducted 

in the ______ 
a. 1969 b. 1979 c. 1989  d. 2009 e. Answer not known 
ngz;fSf;F vjpuhd midj;J tifahd ghFghLfisAk; ePf;Ftjw;fhd khehL (CEDAW) 
eilngw;w tUlk; 
a. 1969 b. 1979 c. 1989  d. 2009 e. tpil njhpatpy;iy 

 
62. The Constitution of India, imposes a fundamental duty on every citizen to renounce 

practices derogatory to the dignity of women”. 
Which article identities this principle? 
a. 51 A(f) b. 51 A(g) c. 51 A(e) d. 51 A(d)  e. Answer not known 
“,e;jpa murpayikg;G rl;lj;jpd;gb ngz;fis> kjpf;Fk; rNfhju kdg;ghd;ik vd;gJ 
mbg;gil flikfspy; xd;whFk;”. 
ve;j ruj;J ,jid Fwpf;fpwJ? 
a. 51 A(f) b. 51 A(g) c. 51 A(e) d. 51 A(d)  e. tpil njhpatpy;iy 
 

63. Suppression of immoral Traffic in Woman and Girls Act (SITA) _____ 
a. 1956 b. 1965 c. 1986  d. 1976 e. Answer not known 
ngz;fs; kw;Wk; ngz;fs; kPjhd xOf;ff;Nflhd Nghf;Ftuj;ij mlf;Fjy; rl;lk; 
a. 1956 b. 1965 c. 1986  d. 1976 e. tpil njhpatpy;iy 

 

64. Which of the following pair is not correctly matched? 
a. Dowry Prohibition Act      – 1961 
b. Maternity Benefit Act      – 1981 
c. Medical Termination of Pregnancy Act   – 1971 
d. Protection of Women from Domestic Violence Act – 2005 
e. Answer not known 
 



 

11 | Page                Appolo, Chennai, Ph: 24339436, 42867555, 9840226187 

 

gpd;tUtdtw;Ws; rhpahf nghUe;jhj ,izia fz;lwpf. 
a. tujl;riz jilr;rl;lk;      - 1961 

b. kfg;NgW ed;ikr;rl;lk;      - 1981 
c. kUj;Jt fUTWjy; rl;lk;     - 1971 
d. FLk;g td;KiwapypUe;J ngz;fis ghJfhf;Fk; rl;lk; - 2005 
e. tpil njhpatpy;iy 

 
65. National Action Plan for Woman ______ 

a. 1981 – 1990  b. 1991 – 2000  c. 2001 – 2010 
d. 2011 – 2020  e. Answer not known 
ngz;fSf;fhd Njrpa nray;jpl;lk; 
a. 1981 – 1990  b. 1991 – 2000  c. 2001 – 2010 
d. 2011 – 2020  e. tpil njhpatpy;iy 

 
66. How many pairs are correctly matched? 

I. PNDT – 1994  II. MTP – 1971 III. SITA – 1956 IV. CEDAW – 1979 
a. 1 pair b. 2 pairs c. 3 pairs  d. 4 pairs e. Answer not known 
gpd;tUtdtw;wpy; vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
I. PNDT – 1994  II. MTP – 1971 III. SITA – 1956 IV. CEDAW – 1979 
a. 1 ,iz b. 2 ,izfs;  c. 3 ,izfs;  d. 4 ,izfs;    e. tpil njhpatpy;iy 

 
67. National Literacy Mission was started in  

a. 5th May, 1988  b. 5th June, 1988  c. 5th May 1978 
d. 2nd October, 1988  e. Answer not known 
Njrpa vOj;jwpT ,af;fk; Jtq;fg;gl;l Njjp? 
a. Nk 5> 1988  b. [_d; 5> 1988  c. Nk 5> 1978  
d. mf;Nlhgh; 2> 1988 e. tpil njhpatpy;iy 

 

68. Which article deals with equal pay for equal work for both men and women in India 
constitution? 
a. Article 39   b. Article 46   c. Article 39D   
d. Article 39E   e. Answer not known 
,e;jpa murpayikg;gpd; ve;j gphpT MZf;Fk;> ngz;Zf;Fk; rkNtiyf;F rkCjpak; gw;wp 
Fwpf;fpwJ? 
a. ruj;J 39   b. ruj;J 46   c. ruj;J 39D 
d. ruj;J 39E   e. tpil njhpatpy;iy 

 

69. Equal Remuneration Act was introduced in 
a. 1946 b. 1976 c. 1986  d. 1992 e. Answer not known 
rk Cjpa rl;lk; mwpKfg;gLj;jg;gl;l Mz;L 
a. 1946 b. 1976 c. 1986  d. 1992 e. tpil njhpatpy;iy 
 

70. The international year for disabled person was announce in the year 
a. 1961 b. 1971 c. 1981  d. 1991 e. Answer not known 
rh;tNjr khw;Wj;jpwdhspfSf;fhd Mz;lhf mwptpf;fg;gl;lJ. 
a. 1961 b. 1971 c. 1981  d. 1991 e. tpil njhpatpy;iy 

 

71. One of the following committees was first to suggest the need for special education 
a. Secondary Education Commission (1953-54) 
b. Indian Education Commission (1964-66) 
c. NEP – 1986 
d. NPE - 1996 
e. Answer not known 
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rpwg;Gj; Njitf; fy;tpia Kjypy; ghpe;Jiuj;jf; FO 
a. ,e;jpa fy;tpf;FO (1953-54) b. ,e;jpa fy;tpf;FO (1964-66)  c. NEP – 1986  
d. NPE – 1996   e. tpil njhpatpy;iy 

 
72. Expansion: IEDC  

a. Integrated Education for Developed Children 
b. Integrated Education for Disabled Children 
c. Individualized Education for Developed Children 
d. Individualized Education for Disabled Children 
e. Answer not known 
IEDC-d; tphpthf;fk; 
a. Integrated Education for Developed Children 
b. Integrated Education for Disabled Children 
c. Individualized Education for Developed Children 
d. Individualized Education for Disabled Children 
e. tpil njhpatpy;iy 
 

73. Expansion : VRC  
a. Vocational Rehabilitation Centres b.  Vocational Retrieval Centres 
c. Vocational Redressal Centres  d. Vocational Resource Centres 
e. Answer not known 
VRC-d; tphpthf;fk; 
a. Vocational Rehabilitation Centres b.  Vocational Retrieval Centres 
c. Vocational Redressal Centres  d. Vocational Resource Centres  
e. tpil njhpatpy;iy 
 

74. Expansion : PIED  
a. Project Integrated Education for Disabled 
b. Project Integrated Education for Devotees 
c. Project Individualised Education for Disabled 
d. Problem of Integrated Education for Disabled 
e. Answer not known 
PIED-d; tphpthf;fk; 
a. Project Integrated Education for Disabled 
b. Project Integrated Education for Devotees 
c. Project Individualised Education for Disabled 
d. Problem of Integrated Education for Disabled 
e. tpil njhpatpy;iy 
 

75. Down’s Syndrome is due to 
a. Presence of two types of Chromosomal aberrations 
b. Presence of three types of Chromosomal aberrations 
c. Presence of four types of Chromosomal aberrations 
d. Absence of one of the Chromosomes 
e. Answer not known 
lTd; rpd;l;Nuhk; Vw;glf; fhuzk; 
a. 2 tif FNuhNkhNrhk; khWghLfs; ,Ug;gjhy; 
b. 3 tif FNuhNkhNrhk; khWghLfs; ,Ug;gjhy; 
c. 4 tif FNuhNkhNrhk; khWghLfs; ,Ug;gjhy; 
d. FNuhNkhNrhk; khWghLfs; ,y;yhjjhy; 
e. tpil njhpatpy;iy 



 

13 | Page                Appolo, Chennai, Ph: 24339436, 42867555, 9840226187 

 

76. Turner’s syndrome results due to the ______ 
a. Absence of y-chromosome in the male 
b. Absence of x-chromosome on the male 
c. Absence of x-chromosome in the female 
d. Additional x-chromosome in the female 
e. Answer not known 
lh;dh; rpd;l;Nuhk; Vw;gl fhuzk; 
a. Mz;fspy; y-FNuhNkhNrhk; ,y;yhjjhy; 
b. Mz;fspy; x-FNuhNkhNrhk; ,y;yhjjhy; 
c. ngz;fspy; x-FNuhNkhNrhk; ,y;yhjjhy; 
d. ngz;fspy; x-FNuhNkhNrhk; $Ljyhf ,Ug;gjhy; 
e. tpil njhpatpy;iy 
 

77. In ‘Myopia’ an individual finds difficulty in seeing 
a. near objects   b. distant objects   c. total vision 
d. normal objects   e. Answer not known 
ikNahgpahthy; jdpegh;fspy; gpd;tUk; ghh;it FiwghL Vw;gLk;  
a. mUfpy; cs;s nghUs;  b. njhiytpy; cs;s nghUs; 
c. KOikahd nghUs;  d. rhjhuz nghUs;fs; 
e. tpil njhpatpy;iy 
 

78. The blurred or distorted vision is known as  
a. Myopia   b. Hyperopia   c. Astigmatism 
d. Ocularity   e. Answer not known 
ghh;it rpjwy; my;yJ ghh;it kq;fyhf ,Uf;f fhuzk; 
a. ikNahgpah  b. i`g;gh;Nghgpah  c. M];bf;khl;brk; 
d. fz;Giu   e. tpil njhpatpy;iy 
 

79. The problem faced by an individual in seeing near objects is 
a. Myopia b. Hyperopia  c. Astigmatism d. Ocularity     e. Answer not known 
mUfpy; cs;s nghUl;fis njspthf fhz ,ayhj epiyapd; ngah; 
a. ikNahgpah  b. i`g;gh;Nghgpah  c. M];bf;khl;brk;  d. fz;Giu  e. tpil njhpatpy;iy 
 

80. The hearing disability of hearing impaired children would be 
a. 10dB b. 50dB c. 60dB d. 70dB e. Answer not known 
nrtpj;jpwd; FiwghLs;s Foe;ijfSf;F Foe;ijfspd; nrtp Nfl;Fk; jpwd; 
a. 10dB b. 50dB c. 60dB d. 70dB e. tpil njhpatpy;iy 
 

81. Kothari Commission was constituted in ______ 
a. 14th July, 1964  b. 14th July, 1966  c. 29th June, 1964 
d. 29th June, 1966  e. Answer not known 
Nfhj;jhhp fy;tpf;FO Jtq;fg;gl;l Mz;L 
a. [_iy 14> 1964  b. [_iy 14> 1966  c. [_d; 29> 1964 
d. [_d; 29> 1966  e. tpil njhpatpy;iy 
 

82. Samagra Siksha Abhiyan was launched in 
a. 24th May, 2018  b. 24th May, 2019  c. 24th July, 2019 
d. 24th June, 2018  e. Answer not known 
rkf;u rpf;~h mgpahd; Njhw;Wtpf;fg;gl;l Mz;L 
a. Nk 24> 2018  b. Nk 24> 2019  c. [_iy 24> 2019 
d. [_d; 24> 2018  e. tpil njhpatpy;iy 



 

14 | Page                Appolo, Chennai, Ph: 24339436, 42867555, 9840226187 

 

83. Which of the following pair is not correctly matched? 
I. PDA – 1995  II. PIED – 1987 III. POA – 1994 IV. DPEP – 1994 
a. III only b. IV only c. III and IV  d. II and III e. Answer not known 
gpd;tUtdtw;Ws; rhpahf nghUe;jhjJ vJ? 
I. PDA – 1995  II. PIED – 1987 III. POA – 1994 IV. DPEP – 1994 
a. III kl;Lk; b. IV kl;Lk; c. III kw;Wk; IV d. II kw;Wk; III e. tpil njhpatpy;iy 
 

84. Which of the following pair is correctly matched? 
I. Morons  : IQ 50 – 70 
II. Idiots   : IQ > 25 
III. Imbeciles  : IQ 25-50 
a. I only   b. II only   c. II and III only 
d. I and III only  e. Answer not known 
gpd;tUk; ,izfspy; ve;j ,izfs; rhpahf nghUe;jtpy;iy? 
I. Ngijah;fs;  : IQ 50 – 70 
II. Kl;lhs;fs;  : IQ > 25 
III. %lh;fs;   : IQ 25-50 
a. I kl;Lk;   b. II kl;Lk;   c. II kw;Wk; III kl;Lk; 
d. I kw;Wk; III kl;Lk;  e. tpil njhpatpy;iy 
 

85. Match the following 
A. Dyslexia   1. Difficulty with reading 
B. Dysgraphia  2. Difficulty with writing 
C. Dyscalculia  3. Difficulty with calculating 
D. Dyspraxia   4. Difficulty with coordinated movements 
nghUj;Jf 
A. b];nyf;rpah  1. thrpf;Fk; jpwd; FiwghL 
B. b];fpuhgpah  2. vOJk; jpwd; FiwghL 
C. b];fhy;Fypah  3. fzf;fpLk; FiwghL 
D. b];gpuhf;rpah  4. cly; cWg;G ,af;Fk; FiwghL 

A B C D 
a. 4 3 2 1 
b. 4 3 1 2 
c. 1 2 4 3 
d. 1 2 3 4 
e. tpil njhpatpy;iy 
 

86. Special needs education conference was conducted at 
a. Salamanca  b. Paris c. Geneva d. Vienna e. Answer not known 
rpwg;Gj; NjitfSf;fhd fy;tp khehL eilngw;w ,lk; 
a. rykd;fh  b. ghhp]; c. n[dPth d. tpad;dh e. tpil njhpatpy;iy 
 

87. Sabko Shiksha Achni Shiksha focusses on ______ 
I. Digital Education  II. Technology  III. Inclusive Education 
a. I and III b. II only c. III only  d. All of the above e. Answer not known 
rg;Nfh rpf;~h mr;dp rpf;~h-dpd; Kf;fpaj;Jtk; 
I. b[pl;ly; fy;tp  II. njhopy;El;gk;  III. cs;slf;fpa fy;tp 
a. I kw;Wk; III b. II kl;Lk; c. III kl;Lk; d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

88. Sabka Saath Sabka Vika is focuses on 
a. Regional balance  b. Sports and physical education c. Skill development   
d. Girls education  e. Answer not known 
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rg;fh rhj; rg;fh tpfh-d; Kf;fpaj;Jtk; 
a. tl;lhu rkepiy  b. tpisahl;L kw;Wk; cly;eyf; fy;tp c. jpwd; Nkk;ghL  

d. ngz; fy;tp  e. tpil njhpatpy;iy 
 

89. Match the following 
Article  UNHRC 
A. Article 1  1. Freedom from slavery 
B. Article 2  2. Right to equality before law 
C. Article 7  3. Freedom for discrimination 
D. Article 4  4. Right to equality 
nghUj;Jf 
ruj;J   UNHRC 
A. ruj;J 1  1. mbikj;jdk; ,d;ik 
B. ruj;J 2  2. rl;lj;jpd; Kd; rkk; 
C. ruj;J 7  3. ghFghL ,d;ik 

D. ruj;J 4  4. rkj;Jt chpik 
 A B C D 
a. 3 4 2 1 
b. 4 3 2 1 
c. 1 2 3 4 
d. 2 1 3 4 
e. tpil njhpatpy;iy 
 

90. ECCE is a programme for  
a. NEP – 2020 b. Samgra siksha Abiya c. RMSA d. SSA   e. Answer not known 
ECCE vd;gJ _____d; xU jpl;lk;. 
a. NEP – 2020 b. rkf;u rpf;~h mgpahd; c. RMSA d. SSA    e. tpil njhpatpy;iy 
 

91. RUSA was started in the year _____ 
a. 2013 b. 2015 c. 2017  d. 2019 e. Answer not known 
RUSA Njhw;Wtpf;fg;gl;l Mz;L 
a. 2013 b. 2015 c. 2017  d. 2019 e. tpil njhpatpy;iy 
 

92. ____ out put device is used for printing, building plan, flex board. 
a. Thermal printer  b. Projector   c. Plotter 
d. Inkjet printer  e. Answer not known 
fl;bl tiuglj; jpl;lk;> gpsf;]; ml;il Nghd;wtw;iw mr;rplg; gad;gLk; rhjdk; 
a. ntg;g mr;Rg;nghwp b gltPo;r;rp   c. tiutp 
d. ikgPr;R mr;Rg;nghwp e. tpil njhpatpy;iy 
 

93. Expansion: POST 
a. Post on Self-Test  b. Power on Software Test  c. Power on Self-Test 
d. Power on Self Text e. Answer not known 
POST-d; tphpthf;fk; 
a. Post on Self-Test  b. Power on Software Test  c. Power on Self-Test  
d. Power on Self Text  e. tpil njhpatpy;iy 
 

94. Which of the following major components was used in the fourth generation computer 
a. Integrated circuits b. Transistors   c. Micro processor 
d. Vacuum tubes  e. Answer not known 
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gpd;tUtdtw;Ws; ehd;fhk; jiyKiw fzpg;nghwpapy; gad;gLj;jpa Kjd;ik nghUs; 
a. xUq;fpize;j Rw;Wfs;  b. jphpjilafk;  c. Ez;nrayp 

d. ntw;wplf;Foy;   e. tpil njhpatpy;iy 
 

95. Expansion of NLP 
a. National Language Problem  b. Natural Language Processing 
c. National Language Programme  d. National Local Processing 
e. Answer not known 
NLP d; tphpthf;fk; 
a. National Language Problem  b. Natural Language Processing 
c. National Language Programme  d. National Local Processing 
e. tpil njhpatpy;iy 
 

96. Full form of ASCII 
a. American School Code for Information Interchange 
b. American Standard Code for Information Interchange 
c. All Standard Code for Information Interchange 
d. American Society Code for Information Interchange 
e. Answer not known 
ASCII -d; tphpthf;fk; 
a. American School Code for Information Interchange 
b. American Standard Code for Information Interchange 
c. All Standard Code for Information Interchange 
d. American Society Code for Information Interchange 
e. tpil njhpatpy;iy 
 

97. How many characters can be handled in Binary coded decimal system? 
a. 28  b. 256 c. 1024  d. 512  e. Answer not known 
<ub Fwpaplg;gl;l jrk mikg;gpy; vj;jid vOj;Jf;fis ifahs KbAk;? 
a. 28  b. 256 c. 1024  d. 512  e. tpil njhpatpy;iy 
 

98. Which of the following OS was created by Google organization? 
a. IOS   b. Android    c. Windows   
d. UNIX  e. Answer not known 
gpd;tUtdtw;Ws; ve;j ,af;f mikg;G $Fs; epWtdj;jhy; cUthf;fg;gl;lJ. 
a. IOS   b. Mz;l;uha;L   c. tpz;Nlh];  
d. Adpf;];  e. tpil njhpatpy;iy 
 

99. Search for Information through internet is termed as 
a. Surfing   b. searching    c. finding 
d. glancing   e. Answer not known 
,izaj;jpy; jftiy NjLjy; vt;thW miof;fg;gLfpwJ? 
a. cyhTjy;   b. NjLjy;    c. fz;lwpjy; 
d. fz;Nzhl;lkply;  e. tpil njhpatpy;iy 
 

100. Expansion of W3C 
a. World Wide Web Consortium b. Wide World Web Consortium 
c. World Web Wide Consortium d. Wide Web World Consortium 
e. Answer not known 
W3Cvd;gjd; tphpthf;fk; 
a. World Wide Web Consortium b. Wide World Web Consortium 
c. World Web Wide Consortium d. Wide Web World Consortium 


